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Question # 10 of 10 { Start time: 00:47:43 FM, 27 Auguet 2021 )

b ai inner product spece X over the lield of Comnplex nombers, for ll x.v Yo X atid o & F, then (o ay) =

Sadact the correct opbon

O oI, ¥

ﬂ alzT, ¥ Download More Quizzes Files From

VUAnNnswer.com

[, )
Q

Loem, 4
QO




MTHE41:Quiz-3

Question £ 9 of 10 ( Start time: 05:17:32 PM, 27 August 2021 )
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Select the correct option
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MTHGE:T Quiz-3 Quiz Start Time: 02:43 PM, 27 August 2021

Duestion # 10 of 10 { Stan time: 02:53:07 PM, 27 August 2021 ) Total Marks: 1

Let (V. {. ..})) be an inner product space over a field F, then ...

Select the correct option 2 Relosd Math Equations

O [z, .y} = & [z, T}, Y,y V,x £ F.
D {z. .yl =ai{z.y, Yr,yc V.o c F.
0 (z, ;. ) = & {y, x) , Yr,yeV,acF.

{x,o.y) =alz,y . Yr.ue V.,ac L.
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Question # 6 of 10 ( Start time: 04:59:45 PM, 27 August 2021 )

In an Inner Product space say X, if the sequences {x,, }
and {y,, } are Cauchy, then {x,,, y,, ) is ———.
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Select the correct option

O

not necessarily a Cauchy Sequence in '

necessarily a Cauchy Sequence in X

necessarily a Cauchy Sequence in I

not necessarily a Cauchy Sequence in X




Question # 9 of 10 { Start time: 04:53:59 PM, 27 August 2021 )

Total Marks: ©

In an Inner Product space say X, for any sequences -[::,._]-
and {yn}, ifen — T and yy — . then it ——,

Select the correct option

¥ Relosd Math Equations
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Question # 5 of 10 ( Start time: 04:58:53 PM, 27 August 2021 )

Let (V. {.,.}) be an inner product space over a field F, then _....
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Select the correct option

{z, oY) = @y, 2}, e,y V,a = F.
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Question # 4 of 10 ( Start time: 04:57:58 PM, 27 August 2021 )

For an inner product space defined on a real vector space (:13, y} =i

Download More Quizzes Files From

VUAnNnswer.com

Select the correct option
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Question # 2 of 10 ( Start time: 04:56:21 PM, 27 August 2021 )

In an inner product space X over the field F',{x, z) = {y, z}

Select the correct option

O

#x=y, forallze X

=x=y, forsomeze X
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=xzy, forallze X

= X2y, for all zeX
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Question # 1 of 10 ( Start time: 04:54:41 PM, 27 August 2021)

For all ¥, y belongs to an an inner product space
%
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Select the correct option
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Question # 8 of 10 { Start time: 04:53:04 PM, 27 August 2021 ) Total Marks: 1

A hilbert spaceis a /an...........
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Select the correct option

Incomplete Inner product space

O

complete norm space

Incomplete norm space

complete Inner product space




Question # 7 of 10 { Start time: 04:57:47 PM, 27 August 2021 ) Total Marks: 1

For an element x belongs to an inner product space, (T, T) =.........

Select the correct option

% Reload Math Equations

ﬂ less than O

O

ﬁ infinity

O

ﬂ greater than 0
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Question # 5 of 10 { Start time: 04:49:52 PM, 27 August 2021 )

Total Marks: 1

Which of the followmng is 8 condrtion of an mner product space?
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Select the correct option

2 Relosd Math Equations

lar + w2 =2, 2) + a(y,2)

iz y) = (=, w)
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Question # 4 of 10 { Start time: 04:49:05 PM, 27 August 2021 ) Total Marks: 1

Every complete Inner product space is .

Select the correct option

% Reload Math Equations

| Euclidean space

O

Hillzert space Download More Quizzes Files From
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Banach space

Complex space




Question # 3 of 10 { Start time: 04:48:12 PM, 27 August 2021 )
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Total Marks: 1

In an Inner Preduct space say X, if the sequences {:rr.]-
and {yn} are Cauchy, then (T, In ::- is :
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Select the correct option

2 Relopd Math Equations

not necessarity a Cauchy Seqguence in X

O

not necessarity a Cauchy Sequence in F'

necessarily a Cauchy Sequence in F

necessarily a Cauchy Sequence in X
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A hilbert spaceis a /an...........

Download More Quizzes Files From

W R ——— VUANnswer.com

complete Inner product space “
O

complete norm space
Q

Incomplete norm space
.

Incomplete Inner product space
O




(R T
MTHAA Qe § Qe Baprs Time 04 15 Pl 7T dugup 20210

Qwaritbelt # 0 o 19 | 50007 om0 82 10 PR 1T Mapupens D921 0 Tl Mebiwhs |

Pweny 150y P Tpoed i1 b WS Sk 57 i

Gabeot Hee vpovvns] apios

Fais

Download More Quizzes Files From

VUAnNnswer.com
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Question # 2 of 10 ( Start time: 04:48:43 PM, 27 August 2021 ) Total Marks: 1

For an inner preduct space defined on a real vector epace {-I!1 T e RN

Sainct tha comsnt oplion ¥ Relosd Math Equations
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Gudsuo # 10 0F 10 0Or ting: UG59250 PN, L7 August L0010 )

In an imer product space X over the fiell F,{x, =} = (y, 2)

Select the Lorrect option

=1y, for all 22 X

O

= y=y, for sone 2= X

0 -2y, For all zEX

sy, for sl e X
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Let (V7 (., .)) be animaer product space over 4 Field £, thed ......

Select the correst option

z,a.9y) =iy, z), Ve, yc V,a € F.

O

iz, a.y) =a&lz,y), Ve,ycV,ac F.

(z,0.9) =iz, y), Yz, yc V,a € F.

(z,a.y) =ai{z, ), Ve, ycV,ac F.
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Guiz Start

Quastion ¥ b of |0 ( Start tiae: 08:33:19 FM, 17 Avsust 2021 )

Every Laner product dpace is 4 astric space With wara gived by:

Select the correct option

O dlz,y) =+iz—unzr—y

e |z —yll = iz -,z —y)

All doove ave L ivalent

diz,y) = ||z —
e (z,y) = ||z — vl




Gueastion # 7 of 10 ( Start fine: 04:38: 19 TN, 17 Avgust 2011 )

Every lanty Froduct space is a Medric dpace a8 well.

Seloct the corvect option
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Gosstion # 8 of 10 ( Start ting: 08:35:07 PN, 17 Awsust 1011 )
bhich OF the FolloWing i 4 condifion oF an beney profult apace®?

Seloct the Lorroct option
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For av imner Product SPALE <x+y,22=...........

delact the corvedd ortion
Nowg oF these
O
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O
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Question # 5 of 10 ( Start time: 04:31:46 PM, 27 August 2027 ) Total Marks: 1

In an inner product space X over the field of Real numbers for all x,y and z \in X and o € F then {axr + Gy, z} =

Select the correct option % Reboad Math Equotions

air,z) + Sy z)

alr, z)+ Sy, z)




Lo an inner product space X over the Field of Redl suabers for all x,v 'in X' and e € F then {z, vy} =

Select the correct aption

a(z,y)

(ez, y)
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Question # 6 of 10 ( Start time: 04:17:59 PM, 27 August 2021 )

Which of the following is not a condition of an inner product space?

Select the correct option
O lax,y) = o (z,y)
o 4y, 2) = (=, :.5 + ey, 2) Download More Quizzes Files From
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Question # | of 10 ( Start time: 08:15:58 PN, 17 August 1011 )

Exery Lonplets Loy product dpace id --------- g

Seloct the correct option
O Hilberi apace
O Batach spacy
O Luclidean space
O Lonplen space
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Question # 10 of 10 ( Start time: 04:21:04 PM, 27 August 2021)

For an element x belongs to an inner product space, (:1;':, :t:) P
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Select the correct option

0
less than O
infinity

greater than 0
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In an inner product space X over the field F,(z., z) = (v, z)

Select the correct option

, = x=y, for some z&¢ X /
k.

=x=y, forallze X

O = x=y, for all zeX

=x7y, forallze X
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Question # 8 of 10 ( Start time: 04:19:40 PM, 27 August 2021 )

Every Inner product space is a metric space with norm given by,

Select the correct option

O

d(z,y) = ||z — y

All above are equivalent

d(z,y) = /(z —y,z — y)

|z — ¥l =/{&—y,2—y)




Question # 9 of 10 ( Start time: 04:20:24 PM, 27 August 2021 )

Every complete Inner product space is

Select the correct option

Euclidean space

O

Hilbert space

Complex space

Banach space



















Question # 5 of 10 ( Start time: 05:19:34 PM_ 27 August 2021)

In an Inner Product space say X, for any sequences {z,}
and {yn},ifzn — z and y, — y, then it ———
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